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11. Which of the following is not a valid column name?
A.1ST_ID

B. CUST#

C. ADDRESS1

D. EXCEPTION

12. Oracle Advanced Security provides all the following except:
A. Database profiles

B. Data encryption

C. Checksumming

D. Biometrics option

13. You have just issued the command Isnrctl stop LISTENER. Which of the following
statements are not true? (Choose all that apply.)

A. New connections to the default listener will not succeed.

B. Existing client connections will not be affected.

C. Only new dedicated connections will fail

D. Existing shared server connections will be dropped.

14. You issue the following command from the database server: sqlplus scott/tiger and
receive the following error message: ORA-01034: Oracle not available. What is the state
of the Oracle database:

A. The database is open but in restricted mode.

B. The instance is started but is in MOUNT mode.

C. The database and the instance are not started.

D. The instance is started in NOMOUNT mode.

15. You connect to the database using the command sqlplus
scott/tiger@abc.com:1522/orcl. To which database are you connecting?
A. abc.com

B. tiger

C. orcl

D. scott

E. None of the above
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16. You are administering an Oracle database using Shared Server. The
LARGE_POOL_SIZE is 50MB. You issue the command ALTER SYSTEM SET
LARGE_POOL_SIZE = 100M SCOPE=MEMORY.

You then shut down and restart the database. What will the LARGE_POOL_SIZE be?
A. 50MB

B. 100MB

C. The default LARGE_POOL_SIZE

D. The LARGE_POOL_SIZE as you have set it in the Oracle SPFILE that you are using

17. You have decided to implement connection pooling and set a timeout limit of 20
minutes for idle connections. You also want to support 500 concurrent connections with
a maximum of 1500 sessions per dispatcher. Which of the following commands will
accomplish this?

A. Dispatchers = "(PRO=TCP)(DIS=5)(POO=0N)(TICK=20)(CONN=500)(SESS=1500)"

B. Dispatchers = "(PRO=TCP)(DIS=5)(POO=0N)(TICK=2)(CONN=500)(SESS=1500)"

C. Dispatchers = "(PRO=TCP)(DIS=5)(POO=0ON)(TICK=20)(CONN=1500)(SESS=500)"

D. Dispatchers = "(PRO=TCP)(DIS=5)(POOLING=0ON)(TICK=20)(CONN=500)(SESS=1500)"

18. You issue the command Isnrctl services. What pieces of information can you see
regarding shared server connections for each dispatcher listed? (Choose all that apply.)
A. Established connections

B. Refused connections

C. Idle connections

D. Current connections

E. All the above

19. What status would you expect to see when querying VSDISPATCHER for a dispatcher
that is not currently servicing any client requests?

A. IDLE

B. WAIT

C. SLEEP

D. READY

E. None of the above

20. Which of the following statements sets the password for user simon to alakazaam?
A. alter user simon password alakazaam;

B. update user simon set password=alakazaam;

C. alter user simon identified by alakazaam;

D. set password=alakazaam for simon;
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